NAVODAYA VIDYALAYA SAMITI
ANNUAL EXAMINATION 2019-2020

CLASS-IX SUB: ENGLISH
MAX. MARKS: 80 MAX. TIME: 3 Hrs

SECTION-A (READING)
1. Read the passage given below and answer the questions that follow: 8 Marks
Zika virus disease is an emerging viral disease transmitted through the bite of an infected Aedes mosquito. This
is the same mosquito that is known to transmit infections like dengue and chikungunya. Zika virus was first
identified in Uganda in 1947. Outbreaks of Zika virus disease have been recorded in Africa, the Americas, Asia
and the Pacific. World Health Organization has reported 22 countries and territores in America from where local
transmission of Zika virus has been reported. During large outbreaks in French Polynesia and Brazil in 2013 and
2015 respectively, national health authorities reported potential neurological and auto-immune complications of
Zika virus disease. Microcephaly in the newborn and other neurological syndromes (Guillain Barre Syndrome)
have been found temporally associated with Zika virus infection. However, there are a number of genetic and
other causes for microcephaly and neurological syndromes like Guillain Barre Syndrome.
Zika virus disease has the potential for further international spread given the wide geographical distribution
of the mosquito vector, a lack of immunity among population in newly affected areas and the high volume of
international travel. The mosquito that transmits Zika virus, namely Aedes aegypti is widely prevalent in
India.

A majority of those infected with Zika virus
disease either remain asymptomatic (up to 80%) or

S\ show mild symptoms of fever, rash, conjunctivitis,
¥ body ache, joint pains. Zika virus infection should be

Aedes aegypti B @) suspected in patients reporting with acute onset of
That person : / Bites Zika .
gots Zha mosquito @ fever, maculo-papular rash and arthralgia, among

@ < those individuals who travelled to areas with ongoing
[ ] transmission during the two weeks preceding the

o onset of illness.

HOW ZIKA IS TRANSMITTED

~

<

£ 0? : o s Zika virus is diagnosed through PCR (polymerase
[b. 2k infected mosauito T [ Vs, Takas 1612 chain reactl_on) an_d virus |solat|o_n from blood
Ao el parecn 2 deesorzlin samples. Diagnosis by serology is not recommended.
Aedes mosquitoes and their breeding sites pose a
significant risk factor for Zika virus infection. Prevention and control relies on reducing mosquitoes through
source reduction (removal and modification of breeding sites) and reducing contact between mosquitoes and
people.
a) In this passage, the author chiefly tends to be
i) Suggestive
ii) Indicative
i) Informative
iv) Evocative
b)Based on information in the passage, how is Aedes mosquito very dangerous?
1) It transmits Zika virus disease
il) It not only transmits Zika virus disease, but also dengue and chikungunya.
iii) It is found almost everywhere in the world
iv) Its breeding cannot be controlled
c) What is the incubation period of the Zika virus
i) 3-12 days
i) 8-12 days
iii) 10-12 days
iv) Cannot be determined from the passage
d) After reading the passage we understand about




The spread, cause and symptoms of the Zika virus disease
Prevention and control of the Zika virus disease
Detail life of Aedes aegypti mosquito
The spread of dengue and chikungunya
i) A and B are correct
i) B and C are correct
1ii) C and D are correct
iv) A and C are correct
a)From the passage what do you understand about the possible threat of Zika virus disease in India?
b)Explain whether Microcephaly is primarily associated with Zika virus infection or not.
c)In the image, why do you think out of three human figures, two figures are portrayed with heads bowed
down?
d)Which sentence in the passage indicates that the Zika virus disease has a worldwide occurrence?
2. Read the passage given below and answer the questions that follow: 12 Marks
1. Junk food is a term describing food that is perceived to be unhealthy or having poor
nutritional value, according to Food Standard Agency. The term is believed to have been
coined by Michael Jacobson. Director of the Centre for Science in the public interest, in
1972. The term has since become common usage.
2. Junk food typically contains high level of fat, salt or sugar and numerous food additives
such as monosodium glutamate and tartrazine; at the same time it is lacking in proteins,
vitamins and fibre, among others. It is popular among suppliers because it is relatively
cheap to manufacture, has a long shelf life and may not require refrigeration. It is popular
as it has lots of consumers because it is easy to purchase, requires little or no preparation,
convenient to consume and has lots of flavours. Consumption of junk food is associated
with obesity, heart disease, Type 2 diabetes and dental cavities. There is also concern about
the targeting of the marketing at children.
3. What constitutes a junk food may be confusing and according to critics, include elements
of class snobbery and moral judgment. For example, fast foods such as hamburgers and
French fries supplied by companies such as McDonald’s, KFC and Pizza Hut are often
perceived as junk foods whereas same meals supplied by more up-market outlets such as
Pizza Express or Nando’s are not despite often having the same or worse nutritional content.
Other foods such as Foie Gras, roast potatoes and bread are not considered junk food
despite having limited nutritional content. Similarly, breakfast cereals are often regarded as
healthy but may have high level of sugar, salt and fat. Many critics believe that junk food is
not harmful when consumed as part of balanced diet and some believe that the term should
not be used at all.
4. Should a child start consuming junk foods exclusively, as opposed to having a balanced
diet, their intake a high-protein-vitamins-roughage diet would substantially decrease and
intake of milk and healthy fruit juices would likely to be replaced by soft drinks. This would
potentially lead to a deficiency of calcium, milk being a rich source of calcium, resulting in
weakening bones. Some type of chips that are said to be “junk foods” may actually be.
I.Choose the correct option 1x4=4M
1. Find the word from the passage which refers to the “opinion of the people”
(Para 1)
a)Public interest b)Coined c)Perceived d)Common usage
2. Which word from the option does not give the meaning of the phrase
“lot of money”(Para 2)
a)exorbitant b)Costly  c)Expensive d)Cheap
3.The word “snobbery” refers to (Para 3)
a)Liking only high class society people and things
b) Respecting only rich people
c) Not satisfied by the things that ordinary people like
d)All of the above
4.Which word among the options is not similar in meaning to the word “deficiency”
(Para 4)
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a)Decrease b)inadequate c)balanced d)insufficient
Answer the following Questions 2X4=8M

5.Why is junk food considered unhealthy?

6.Mention the health issues related to consumption of junk food?
7.What reasons are attributed to the popularity of junk food?

8.What has snobbery to do with junk food?

SECTION-B (WRITING AND GRAMMAR)
3. You are Biki/Binita, a student of Tulip Public School, Guwahati. You have noticed that while many people
take care of animals keeping them as pets, many treat the stray animals with lot of cruelty. Write an article in
about 100-150 words highlighting the need for treating the animals with love and care. 8
OR
During the winter vacation, you went to your maternal uncle’s village. There you got the opportunity to meet Mr.
Das who has been an excellent swimmer even though he is differently abled. You have felt a deep admiration for
him. Make a diary entry, writing down your feelings as you spent the day with him in about 100-150 words.

4. Complete the story in about 150-200 words using the outline given below: 10 Marks
An old man sitting near the gate of a house at night........ returning home from a distant
village.......... still a long way to go.......... tired and hungry ........ dogs bark at him........ some

people take him for a thief....... the owner of the house gives food and shelter.

OR
Read the beginning of the story given below and complete it in about 150-200 words.
Bidyut was on his way to school in a hurry as he had English unit test. Suddenly he noticed that one old lady had
been hit by a bike and she had fallen on the ground by the roadside. He decided..................
5. Choose the most appropriate options from the ones given below to complete the paragraph. Write the
answers against the correct blank numbers. Do not copy the entire passage.
1/2x8=4 Marks

| saw that that the boy killed the bird (a) a stone. I knew that (b) all the students, only
that boy could do so. I sent (c) him immediately as | knew that he was blind (d) his fault.
He started quivering in fear (€)................... I asked him about the incident. I talked to him in a friendly
manner (f)..................... that he could shed his fear. I counseled him to behave (g).............. a good boy. He
promised that he would not harm any bird or animal (h)................ in future.
a)i) by i) with iii) for iv) in
b)i) between i) for 1ii) among iv) on
c)i) on ii) of iii) for Iv) into
d)i) of i) in iii) to iv) with
e)i) while i) when i) if Iv) though
i) after i) as iii) so Iv) before
g)i) than i) for iii) as Iv) proper
h) i) never i) ever i) for Iv) more

6. The following passage has not been edited. There is one error in each line. Write the incorrect word and
the correction in your answer sheet as given below against the correct blank number. 1/2x8=4 Marks

Incorrect Correct

a) After reaching the airport a passenger may used
b) trolleys to transport his luggage. Then they must show
¢) his ticket to the clerk, who issues a boarding pass. Than he can wait
d ) at the waiting room. He can also do some shopping in the stalls.
e) He need not carries his luggage with him as
f) it is be taken care of by the airline.
g) He must follow the airport regulations or
h) should behave cordial with his co-passengers.

7. Rearrange the following jumbled words and phrases to form meaningful sentences. 1x4=4



a)Kerala/went/my/to visit/last year/brother
b)Beautiful / india / Kerala / states / of / one / the / is / most / in
c)Famous / backwaters / lagoons / and / kerala / for / its / is
d)Also / few / a/ kerala / in/ there / are / hill stations /

SECTION-C (LITERATURE)
8. Read one of the extracts given below and answer the questions that follow: 1x4=4 Marks
On Sunday afternoons Grandmother sent her down to the drawing-room to have a “nice talk with Father and
Mother”. But the little girl always found Mother reading and Father stretched out on the sofa, his
handkerchief on his face, his feet on one of the best cushions, sleeping soundly and snoring.
a)Why do you think Grandmother sent the little girl to talk to parents on Sunday afternoons?
b)What does the sound sleep of Father signify?
¢) How do you think the little girl reacted to the situation?
d) In your opinion, what would be the proper response to the little girl by her parents?
OR
Now in memory comes my mother,
As she used in years agone,
To regard the darling dreamers
Ere she left them till the dawn:
O! | feel her fond look on me
As | list to this refrain
Which is played upon the shingles
By the patter of the rain.
(a) Why do you think that the poet’s mother only comes in his memory?
(b) In what state of mind do you think the mother was in years gone by?
(c) Why does the poet feel the fond look of mother while listening to the patter of the rain?
(d) What message about motherly affection does the poet want to convey?
9. Answer the following questions in not more than 30-40 words ( Any Five) : 2x5=10 Marks
a) Why did Margie think that the old kind of school must have been fun?
b) What was Jerome’s real intention when he offered to pack?

c) What was the dream that kept Maria going?

d) Why does the poet feel that no men are foreign?

e) Why did Mahendra not feel the absence of a TV in his quarter in presence of Iswaran?
f) Why did the narrator feel his first year of high school awkward?

g) How was Olga responsible for a positive change in Lushkoff?

10. Answer the following question in about 100-150 words: 8 Marks

How was Bismillah Khan’s fame as the Shehnai maestro not just confined to India, but widespread throughout
the whole world. OR

How did the parents, teachers and elders of Abdul Kalam help him to realize the greatest values of life?
11. Answer the following question in about 100-150 words: 8 Marks
Though Prashant himself faced a lot of problems during the storm, he was firm to help other storm victims.
Describe how he not only demonstrated the true fellow feeling but also helped the storm victims to survive and
settle. OR
How did Behrman set an example of humanity and sacrifice by saving the life of Johnsy?
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ANNUAL EXAMINATION 2019- 20

CLASS -9
HAT-9
MATHEMATICS
DURATION: 3 hrs. MAX. MARKS: 80
qhT ;3 HaT FfIFaT 3(F 180

General instructions:

All the questions are compulsory.

The question paper consists of 40 questions divided into 4 sections A, B, C, D.
Section A comprises of 20 questions of 1 mark each.

Section B comprises of 6 questions of 2 marks each.

Section C comprises of 8 questions of 3 marks each.

Section D comprises of 6 questions of 4 marks each.

N o s~ w N e

There is no overall choice. However, an internal choice has been provided in two
guestions of 1 mark each, 2 questions of 2 marks each, 3 questions of three marks each,
and 3 questions of 4 marks each. You have to attempt only one of the alternatives in all
such questions.

8. Use of calculators is not permitted.

AT Haer:

1. 94T w7 srfard g

2.7 99 ¥ 40 w7 ¢ = 4 @7 A, B,C, DH fawifoa BT mm 2

3. H 1 3% % 20 T &l

4.GST H 2 3% % 6 TT 2l

5959 H 3 3F 8 TT 2l

6.3 H 4 3% % 6 TT 3l

7. %7 AT AFeT A5 § 1, GAfth [s(F & 2 ,T00 | 23(®0 % 3, T=I7 287 6 T7 3% 3

3 ST o 4Tl | & T H Uah A (e fashed (QFT AT § Srael U a9t Wi # & had |
| U forheT T &F FAT ¢
8. FAFIe o ITANT i AqHT T5l & |
SECTION - A ) G (31-

On (1-10)are multiple choice questions.Select the most appropriate answer
from the given options

Qn (1-10) SEfqhedid 92 & | feu TV fqshedt 3 § Had 39YFd 3o
EIGLY

ree —




1. How many pairs of adjacent angles are formed when two lines intersect in a
point. (a) 0 (b) 4 (¢) 2 (d) 3
;fnonk jkk, vkil e ,d nlj dk Intersect djrh g rk fdru adjacent angles
Cux:
(@ 0 (b) 4 (¢c) 2 (d) 3

2. If 4* = 32 then the value of x is
8 () 5 (© Z(d) =
I 4* =328 AT X PT AT &

@8 (b)) 5 (0 2 (@)=
3. Which of the following cannot be the sides of a triangle
(@ {2,4,6} (b) {3,455} (c){5,12,13} (d) {8,15,17}

AFATATET 7 @ it AT Ueh TeTST Y $1ITT €T 8T Fehcll &
(@) {246} (b) {345} () {51213} (d) {81517}

4. If a triangle and a parallelogram having same base and in between same
parallels,then the ratio between the areas of parallelogram and triangle
(@ 2:1 (b) 1:1 (c) 1.2 (d) None of these

Ife; ueh 37T 3R Ueh AATR TqesT fordeh TATT 3TaR 3 G
HATAATS §, A FHATR TSIt 3R T37eT 3 &1 o dier ot 3eqared
(@ 2:1 (b)) 11 (c) 1:2 (d) None of these
5. If the altitude of an equilateral triangle is 4V3 cm,then what is the area of
equilateral triangle?

@ 16+v/3cm?  (b) 8V3cm? (c) 2¥3cm?  (d) 64V3cm?)

ﬂﬁ@m@ﬁﬁiﬁﬁuﬁﬁ4\/3 cm HHT §, AT FHETg AT AT 87Tl
ThaTT 872
@ 16+v/3cm? (b) 8V3cm? (c) 2¥3cm?  (d) 64V3cm?)

6. The bisectors of the angle of a parallelogram enclose a

(a) Parallelogram (b) rhombus  (c) rectangle (d) square
fdlh Dkekrj prict di IHh dk.ke d fHked I cuu okyr virt fp= dk dgr g&
(@) Lkekrj prHit Yb) feemesior prict (c) vk;r Ydh ox

7. Inacyclic quadrilateral ABCD, 24 = 70° ,then what is the measure of 2C
(a) 70° (b) 180° (c) 110° (d) None of these
Teh TshTT TJeTST ABCD &, ,2A = 70° &, T £C T AT FAT &

(a) 70° (b) 180° (c) 110° (d) bue: I dkb ugh

8. Degree of zero polynomial
(@ 0 (b) Not defined (c) 1  (d) None of these

NG ECEANED



(@ 0 (b) Not defined (c) 1  (d) bue: I dkb ugh

9. Which of the following cannot be the empirical probability of an event
3

@ 2 ® (©0 (d1)

AFATATET & & it A1 fonelt s T 3TeTeriaes HHTAT 181 g1 Hehll &
@; ®F ©0 1)

10. Volumes of two cubes are in the ratio 27:125.Then the ratio of their surface areas
@) 53 (b)25:9 (©)3:5 (d) 9:25
A FGeH S ATCTA 27: 125 IAAHE T 3oTeh Hclg &1 T 37gdTeT
@ 53 (b)25:9 (©)3:5 (d) 9:25

(On 11-15) Fill in the blanks
(Qn 11-15) N AT #E

11. Write the rationalization factor of 1
3-8

- @ g e R
OR
If p(x) = x then p(x) +p(-x)=-----
FfEp (x) =xdrp (X) +p (-X) = -
12. Measure of the acute angle of an isosceles right angled triangle is----

HHIOT FAS[T & FHETISTE & clleT 10T T A § ------ ¥

13. The class mark of the interval 20 —30 is........oeen.....
Virjky 20830 dk 0X fplg ---msweereeseseeees

14.In A PQR, 2P = 50°, 2R = 609 then the longest side is-------
APQR#, 2P =50° 2R = 60°, A@F G&H oI«T 19T ------- &
15. Abscissa of a point on y axis is------

Y 3787 X Ueh Taig ohT 3eETET ------ &

(On 16-20) Answer the following
(On 16-20) A=1@a #1 39X ST

16. Solve x+6 =10 .Which axiom is used?
X + 6 =10 ol §of | ShlsT AT FTTATACE TN TohAT ST &7
17.Find the remainder obtained when the polynomial (y2-3y? +y +6) is divided
by (y-1)
SgIE (y*-3y*+ y +6) T (y-1) ¥ [THITST et IR d1ecd AYHel AT I |
OR
Check whether (x+1) is a factor of the polynomial x3 +x? +x +1
ST o &FT (x + 1) TEIG X° + xP+ x +1 T HR ¢

18.1f V2 = 1.414, then find the value of %

I V2= 1.414 8, ar % T AT 3T Y

19.If 25 & 35 are the two conscecutive class marks of two successive class




intervals,find the size of the class?
gfe 25 31X 35 & fAF F97 & 37T & Y Afrse g9t e &, ar weir ar
3ThR AT PY?

20.1n a circle of radius 17cm,there is a chord at a distance of 15cm from the
centre.Find the length of the chord?

ST 17 cm & Teh Hehel #, &g I 15 cm &I g 9T Teh IS gl o | his
$T TS ATT H?

SECTION B(®Es &)

21.1f the volume and total surface area of a sphere are numerically equal,find the
diameter of the sphere?

Tfe; fordlY el T ITATA AR Fel Tg T &Il TEITcHS T T SRTT
&, aY 9Tl &1 =TTH FTd hIfaTT?

22. In figure ,0 is the center of the circle ~CAO = 40° and ~CBO = 30° then find x?
C

B
A

WHFAHA, OFAFIFEEY, £CAO = 40° 3T £CBO = 30° TS x AT FFIe?
C

B
A

23. Factorise :- 8x° +y° +272% -18xyz
CICIGECER 8x3 +y3 42723 -18xyz

5
OR
Expand:- (2x+3y-4z)?
TaEAR :-(2x+3y-42)?

24. Write an equation of line passing through (2,3).How many such lines are there?

(2,3) & B1ohY ISR aTell 3GT &1 HHTR0T ff@T | T fehctelt oftgat 82



25. Expressingform 2.31717----- ?
P/q¥®TH TFHIH 2.31717 - ?

OR

. . . . 1 1
Find two rational number and two irrational number between > & 3?

~ &< dra &y aReT FEa 3R & e deEar A fifew?

26. Show that median of a triangle divides the triangle into two parts of equal area.

T o weh eyt 1 ATy FI87eT bl FAT &7 & 2l a77ett & fasnfaid e g |

(SECTION —C ) @3-H

27. Represent /5 on a number line(With steps of construction)

FEIAT Y@ W V5 & gfafaftica i (Ao & 9ol & are)
OR

Represent V5.6 geometrically(With steps of construction)

V5.6 SR &9 &1 gfafafeca ¥ ([FaTor & o & are)

28. AD is an altitude of an isosceles triangle ABC in which AB=AC.Show that i)AD
bisect BC, ii) AD bisect A

AD T HHE[ASTE FI97T ABC 1 3aTg & FoTeaT AB = AC. fe@md & foh
i) AD gfafasiiaid BC, i) AD giafasiaia A

29. A triangle and a parallelogram have the same base and the same area.lf the sides of
the triangle are 26cm,28cm,and 30 cm and the parallelogram stands on the base 28
cm,find the height of the parallelogram?

Teh 87T 3R Ueh THATCR TJYST T Ueh BT 3R 3R Tk €1 &1 gIAT ¢ | Tfe; gt
T §TSTTU 26 cm), 28 cm 3T 30 cm & 3R AT TS 28 cm & TUR W TST 8, ol FHI
TS T FTg AT HIfoTw?

OR
Jumbo circus team wants to start their show in Bangalore in 2018 December
after their show in Kerala.But due to 2018 flood in Kerala their canvas were spoiled.They
want to purchase the canvas from Chikpet,Bangalore. They want to make a conical tent of
10m high and radius of its base is 24m.Find the cost of the canvas required to make the
tent,if the cost of 1m?2 canvas Rs 70
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30. If BO and CO are the external angle bisectors of£B and«C of AABC and they
meet at the point O,then show thatZBOC = 90 — %ABOC
A




e BO 31 CO AABC & of £B 31R2C & TgdY 10T gfasirersh & 3R d fig O o fAeld

& ,BOC =90 — §LBOCEﬁ ITXGIY
A

0

31. The dimensions of a cinema hall are 100m, 50m and 18m. How many persons

can sit in the hall, if each person requires 150m? of air ?
,d fluek gky dh yEckb] pkMkb' vkj mpkb: 100 efiVj] 50 efVy vkj 18 efvVj gA ml
fluek gky e fdru 0;fDr cB Idix ;fn ifr 0;fDr dk 10 etVj3 wk) ok; pkfg,?
OR
The diameter of a sphere is decreased by 25% By what percent its curved

surface area Decrease ?

fdlh xky: d 0;k0 dk 25% de dju ij mldk Surface Area fdruk 1fr”’kr de gkxk ?
32. Construct a triangle PQR such that £/ Q=45° ~/R=60%nd PQ+QR+RP=20 cm (with
steps of construction)

Teh FARI0T PQR T AATOT R ST fF £ Q=45°, /R=60° and PQ+ QR + RP = 20 cm
(TYATOT & =TT & |T)

OR
Mr Roshan has a plot in the shape of a quadrilateral near Sitapur,Uthar pradesh .District
panchayath of Sitapur decided to take over some portion of his plot from one of the corners to
construct a health center.Mr Roshan agrees to the above proposal with the condition that he
should be given equal amount of land in lieu of his land adjoining his plot so as to form a
triangular plot.Explain how this proposal will be implemented?

A QAT & I HIATYR, AT oh T Teh TJeToT oh TR T Teh [0S & | HNATYR Toter
T o Ueh TARLY ah; oh TAHTOT oh feTT Ueh hiel & 3791 37T o 6 o ol et 1 hifell
TehaT| i TR S8 TEATT o HIY IR FEATT I HEH & 38 TS o dcel H IH! A
SIS 87 & STt ATTET cATieh Teh TIhIONY ${ES SeATAT 51T Heh | UG SEATT hdl of13] fehar

SITUATT?
33. The following figure shows a study table with a lamp. Look at the figure carefully and




answer the following questions

)] Considering D as an origin, which of the following describes the correct position
of the lamp?
(a) (60,50) b) (25,30) c) (0,25) d)(0,30)

i) Find the distance of the lamp from Corner D?
iii) Iii)Assuming that position of the lamp is exactly at the centre of the table; find
dimensions of the table.

frfo @ 3mehfa Uk Sraeh & |1y Tah 3rearet diforent fe@reh &1 3mehfa &t e & @
IR =l gt F 3 E

) DA A Y, fAFfaifld & & ler A1 &raeh v Ter ATy 7 qoief heelr

g7
a) (60,50 b) (25,30) ¢) (0,25) d)(0,30)

i) e D & &oeh I gl AT hiford?
iy  HFATT o Top Eraes T TEATA drforeT & g 7 &; dTTelenT o TITH @it |

34. Ram has 5 members in his family. He has monthly income of Rs.40000 .He wants to
use it in such a way so as to fulfill the given requirement.Following are the different
heads of expenditure.

SL.NO. | HEADS EXPENDITURE (in
Thousand)

1 Fuel 4

2 Entertainment 2




3 Grocery 8
4 Rent 10
5 Medicine 4
6 Education 10
7 Others 2
10 -
8 _
6 _
O Expenditure(in @ O
4 thousand rupees)
. I
0 B T T T !

Gro. Rent Edu. Med. fuel Ent. Mis
i)Under which head the maximum amount is spent?

(a) Rent (b) Education (c) Grocery (d) Bothaand b
ii)What percentage of monthly income is used under the head grocery ?
(@) 20% (b) 25 % (c) 75% (d) 80%
iii) What is the ratio of expenditure under medicine and grocery ?
(@) 2:1(b)1:2 (c)4:8(d)1:4
TH & YRAR & 5 G & | 3T ATIA 3T | 4,0000 & | I SH 3T g J 3TAT HIT
TG § cllieh & 373 3TARAAT T U X Toh | T & A1 g5 §

SL.NO. | HEADS EXPENDITURE (in
Thousand)

1 Fuel 4

2 Entertainment 2

3 Grocery 8

4 Rent 10

5 Medicine 4

6 Education 10

7 Others 2




10

O Expenditure(in @ O

'I -‘ thousand rupees)

Gro. Rent Edu. Med. fuel Ent. Mis

O N A O ©®
|

o &2 & dgd 3ifRwar afr @I Hramch &
(@) R (&) fvam (&) fonrer (&) w stk i gt
25 T & agd AR 3 &1 fha=r aforera 39T frar srarg?
(b) 20% (b) 25 % (c) 75% (d) 80%
gar 3 et & dae T T 3T FAT Y
(a) 2:1(b) 1:2 (c) 4:8 (d) 1:4
SECTION D)@s-g

35. Factorise X3 +13x24+32x+20
?lmma’g x3 +13x2+32x+20

OR
Divide the polynomial 3x* -4x3 -3x-1 by x-1 and verify the following
Dividend= Divisor x Quotient +Remainder

X-1 G@RT 9gUG 3x* -4 -3x-1 Y Frsmmiorer A iR et i@ 1 aeamid #3
STHTET = TSI x AT + AT

36.At a Ramzan Mela, a stall keeper in one of the food stalls has a large
cylindrical vessel of base radius 15 cm filled up to a height of 32 cm with
orange juice. The juice is filled in small cylindrical glasses of radius 3 cm up to
a height of 8 cm, and sold for Rs.3 each.



i) How many small glasses can be filled by using complete juice in the large
cylindrical vessel?
(a) 25 (B) 50 (C) 100 (D) 200

ii) How much money does the stall keeper receive by selling the juice completely?

(A)Rs.100  (B)Rs.300 (C)Rs.200 (D) Rs.250

iii) If the complete juice of a large cylindrical vessel is filled in 50 small
cylindrical equal volume glasses then what will be the price of each glass?

AT & A &, @I F el & ¥ UF F T T HIR & TR0 & 30 & 91 32 FH Y
FUTS I ATUR PSAT FT U 98T IA[THR gl 1T 81 I B F i IaR e
# 3 QY 8 A Y FATS dF ST ATAT §, 3R TAF F AT 3 F9F H AT ATATR |

) 93 SR Jciel H YT TH & 3YANT ek fohdtal oI [Fema s8
Hhd 57
(A) 25 (B) 50 (C) 100 (D) 200
i)  TE I Y THE § T FTT I Al fehcel I8 Ao 87
(B)Rs.100  (B)Rs.300 (C)Rs.200 (D) Rs.250




iii) ITE Ueh I3 SeleAThR STl &1 I TH 50 BIC SolelTehY FHTH AT & el
H 9T ST g, aF Ik ey &1 hrad Far gref?

37. Show that bisectors of angles of a parallelogram form a rectangle
c

OR
Mrs Gayatri was having a field in the form of a parallelogram ABCD.She took any point P on
CD and joined it to points A& B.In how many parts field is divided ?What are the shapes of
these parts?She wants to sow Paddy and wheat in equal portions of the field
sepatrately.How should she do it?

AT T Teh HATATR TJTT ABCD o & H Ueh &1 AT | 3gled D IR 13 foig p feram
AR 8 A 3R B. o Teigait & e fem| fohcer s1ramt #F fAeiore 82 SeT o17att & 3T T 872
IE W 3 AT 31T 3F 1ot 3 G Y FaTS FAT AN ¥ 38 SHSY HY AT AR
38.

Amit visited Delhi. He was at the Railway Station and he wanted to see India Gate which is
20km from Railway Station. He also wanted to see Lotus Temple which is also 20km from



Railway Station in other route. The auto driver who is willing to go to India Gate by giving a
condition ,”For the first km he charges 10 rupees and the subsequent kilometres he charges
5 rupees per km. Another auto driver who is agreed to go to lotus temple by a giving a
condition ,”For the first kilometer 15 rupees each and the subsequent kilometres he
charges 4 rupees per kilometre.Amit is having less money in his pocket but he wants to see
any one of them. Which one he prefers to go by calculating the total fare in each case?Form
linear equation intwo cases taking x as total distance covered and y as total cost?Also
represent both the lines graphically?

AT & oo &1 &l fvam| ag Yo TeeeT WX 3R ag Sf3ar 91 SE=T Iedr a1 S
Yold T @ 20 Tohell oY 1 98 olled T#uor #ff S@ar =gt & il Yord TAT & 20 ey
T &1 AT TTeIeh ST T A ST ST A STt o foiw SRR, “ag e et & faw ag 10
9 3N 38H a6 & fohelldel & T 5 o0 gfd fanef glesh Acm &1 T 37 3ifeY
TTefeh Sl Teh A & U el HIET ST & FolT IR &1 Sirelm 8, “Tgel feheitafiex & forw
15 T9F Ycdeh R 3T 91 & ThollHCT & [T ag Ui fhaldie 4 ¥93 ofar g1 31fAa
T S F A AG §, AfheT g 37 F T & SR ST T8 § | Fedeh HH & FHol
TRITIT T ITUTAT Heh I8 hisT AT SATAT Héq%{dI%‘?HcﬁqﬁmﬁiﬂmﬁmﬂT
HLch g PieT AT AT GHG, Pl &7 I Wh THDIUT T TSAH &l FAHeT H T x
Fol gl T eMAT & 3R y Fel ST T SATCAT & | T@iehad 8fY At T@nait 1 yfafaferea
A 8?




39. ABCD is a quadrilateral in which P, Q ,R, S are mid points of the sides AB,BC,CD,DA,
and AC is a diagonal . Show that

i) SR | AC and SR ==AC

i) SR = PQ

i) PQRS is a parallelogram
ABCD T& aq#{ ¢ fr# P, Q, R, S wall & #ewr fig & AB, BC, CD, DA AR AC T&
faeot &1 at st

i) SR | AC and SR =>AC

ii)SR = PQ

iii) PQRS Ta WHIeR T3 &

40. If 26 alphabets are taken in such a way that A=1,B=2,C=3.......... 7=26,find the mean
and median of the numbers corresponding to vowels.Also write which alphabet
corresponding to median

IR 26 MR sT e A RTaITEFA=1,B=2,C=3......... Z=26, T F HIwq
FEATHT T AT AR AT FX1 $HE remar AfCAHT F IHTHT Fler W qotaATen for g
OR

Draw the histogram and frequency polygon for the following data

MARKS NUMBER OF
STUDENTS

0-10 3

10-20 9

20-30 17

30-40 12

40-50 9

PrafafRa fer e R i Pl agars aame

MARKS NUMBER OF
STUDENTS

0-10 3

10-20 9

20-30 17

30-40 12

40-50 9
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Class-1X Sub: Social Science Time: 3.00 Hrs M.M.80
General Instructions-
There are 36 questions in all. All are compulsory.
Question numbers from 1 to 17 are of objective type carrying 1 mark each.
Question numbers from 18to 25 are short answer type questions carrying 3 marks each. Answer to
these questions should not exceed 60 words.
Question number 26 to 31 is very long answer type questions carrying 5 marks each. Answer to
these questions should not exceed 120 words.
Question number 32&32 is a Map question carrying 6 marks, 3 marks each from History and
Geography section.
Attach the filled up map inside your Answer book.

1. The Tropic of Cancer does not pass through which state?
(a)Rajasthan (b) Chhattisgarh (c) Orissa (d) Tripura 1
2. The wind blowing in the northern plains in summers is known as:

(a)Kaal Baisakhi (b) Loo (c) Trade winds (d) none of the above 1

3. The Sundari tree is associated with which type of forest?

(a)Mangroves (b) Tropical rain Forest (c) Tropical deciduous Forest

(d) None of the above 1

4. Which is the highest peak of eastern Ghat?

(a)Annaimuddi (b) Mahendragiri (c) Kanchenjunga (d) Khasi 1

5. How many seats are there in Rajasthan Assembly?

(a) 175 (b) 200 (c) 210 (d) 2501

6. Aayende was the founder of which party of chili?

(a)Socialist Party (b) Communist Party (c) Congress Party (d) None of these 1
7. Which of the following is part of political executive?

(a)Collector Secretary (b) Ministry of Home Affairs (c) Home Minister
(d)Director General of police 1

8. Which of the following political institutions can amend the existing law of the country?
(a)Supreme Court (b) President (c) Prime Minister (d) Parliament 1

9. Which one is not a Fundamental Right?

(a)Right to Equality (b) Right to Freedom (c) Right to Freedom of Religion

(d) Right to use influence in Personal work 1
10. Who appoints the Chief Election Commissioner (CEC) in India?
(a)The Chief Justice (b) The President (c) the Prime Minister (d) Lok Sabha Speaker 1

11. MSP stands for 1
12. The co-operative that provides milk and vegetables at controlled rate decided by the

government of Delhi 1




13. In this state of India, 94% ration shops are run by the co-operatives 1
14. Activity performed for getting pay or profit is called 1

15. Two examples of working capital are 1

16. The most common way of increasing production on a given piece of land 1
17. Match the column 4x1=4

Events Time period

(A) French revolution (A) 1864

(B)Great economic depression  (B) 1933

(C)Indian forest service (C) 1789

(D)Enabling act (D) 1929-1932

18. Define the following- 3x1=3

i) Minimum support price

ii) Buffer stock

i) Issue price

19. Identify the social and economic groups which are most vulnerable to poverty in India. 3
20. Briefly explain three differences between market and non market activities. 3

21. What are jet streams and how do they affect the climate of India? 3

22. What is the basis of assuming the election is democratic? 3

23. Write about equality of chili and polish governments. 3

24. Is political rivalry a good thing? Please discuss. 3

25. Explain the role of women in the French Revolution. 3

OR

Differentiate between the ideas of liberals and radicals?

26. Describe the rebellion of Dhurwas of kanger against the British. 5

27. Who was Adolf Hitler? Describe his rise to power in Germany. 5

OR

What were the main changes brought about by the Bolsheviks immediately after the October
revolution?

28. Classify Indian vegetation and describe any one 5

29. Discuss the significant difference between the Himalayan and the peninsular rivers. 5
30. Explain how the international organization sets the limits of the functioning of
governments. 5

31. Describe current government strategy of poverty alleviation? 5

32(A).In the given map of India shows the following:-

(a) Sariska

(b) State with highest population density

(c) The Arawali Mountain 3X1=3

(B). On the outline map of world, locate and label the following- 3x1=3

(a) Central power of first world war- Germany

(b)Allied powers of first world war- France, Russia
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ANNUAL EXAMINATION 2020
SUBJECT -SCIENCE Maximum Marks: 80
Time Allowed: 3 hours

General instructions:
i. The question paper comprises of three sections — A(from Q 1to Q 12),B (from 13 to 23) and section
C (from 24 to 30). Attempt all the sections.
ii. All questions are compulsory. Internal choice is given in each section.
iii. All questions in section A are one —mark questions comprising MCQ, VSA type and Assertion —reason
type questions. They are to be answered in one word or in one sentence.

iv. All questions in section B are three-mark, short-answer type questions. These are to be answered in
about 50-60 words each.
V. All questions in section C are five —mark, long —answer type questions. These are to be answered in
about 80-90 words each.
vi. This question paper consists of a total of 30 questions.
SECTION A
Q1. Growth of lichens on barren rocks is followed by the growth of:
(a) moss
(b) fern
(c) gymnosperm
(d) algae

Q2. Italian species of honeybee is-
(a) Apis dorsata
(b )Apis florae
(c) Apis cerena indica
(d) Apis melifera
Q3.The inertia of an object tends to cause the object
(a) to increase its speed
(b)to decrease its speed
(c) to resist any change in its state of motion or rest
(d) to deaccelerate due to friction.
OR
In the birthday party of Aryan, his parent gave slinky to each friend as a return gift. The next day during the school,
their teacher explained them about the production of magnetic field using current carrying coil and also said that
they can make permanent magnet using such coils by passing high current through them.

SLINKY
Teacher also explained the use of solenoid which is a long coil wrapped in many turns similar to slinky. When

current passes through it, it creates a nearly uniform magnetic field inside.
Question: The magnetic field strength of a solenoid can be increased by inserting which of the following materials
as the core?

(a)Copper

(b)Silver



(c)lron
(d) Aluminum

Q 4. The number of waves in a unit length is known as :
A. frequency
B. Wave number
C. wavelength
D. wave velocity.
Q5. Rahul’s teacher given him three different type of mirror and told her that something about each mirror given
as follows. Help Rahul to identify mirror.
Mirror A- It always forms virtual image.
Mirror B- It for image of same size and has infinite focal length.
Mirror C- It can form both virtual and real image
Question: Mirror A has focal length.
A- Only Positive
B- Only Negative
C- May have Positive or Negative
D- Can’t comment on focal length.
OR
A camal walks easily on sand but a man cannot. Give reason.

Q6. An element has electronic configuration 2, 7 . It will have valency
(@1 ()2 () 3 (d 4

Q7. Gas can be liquefied at specific conditions of temperature and pressure . Choose the correct set of conditions.
(a) High temperature and high pressure
(b) Low temperature and low Pressure
(c) Low temperature and high pressure
(d) High temperature and high pressure
Q8. An isotope of Cobalt is used
(a) as fuel in nuclear reactor.
(b) in the treatment of cancer
(c) ) in the treatment of goitre
(d) in radio carbon dating to determine age of old sample of living organisms
Choose the correct answer out of the following choices
(a) Both assertion and reason are true and reason is the correct explanation of assertion
(b) Both assertion and reason are true and reason is not the correct explanation of assertion
(c) Assertion is true but reasons is false.
(d) Assertion is false but reason is true.
Q9. Assertion : We feel cool when touch a piece of ice
Reason : Our body temperature is higher than the temperature of ice .
Q10. Assertion : Displacement of a body may be zero when distance travelled by it is not zero.
Reason :The displacement is the shortest distance between initial and final position .
Q11 Making antiviral drugs is more difficult than making antibacterial medicines because
a) Viruses make use of host machinery.
b) Viruses have protein coat.
c) Viruses have very few biochemical mechanisms of their own.
d) None of the above.

Q12. How many atoms are presentin 52 u of He ? ( Atomic mass of He=4 u)
(a) 13 atoms
(b) 13 x6.022x10 ?*atoms
(c) 52x6.022x10 *3atoms



(d) 4x6.022x10 22atoms

Q13. At 20°C ,the minimum distance of a person from a sound reflecting surface to hear an echo is :
(a)12.2m

(b) 17.2m

(c) 15.2m

(d)34.4m

OR

What does SONAR stand for?

SECTION B

Q14 . Write any 3 disadvantages of principle of treatment of infectious diseases.

Q15. Write the various methods of weed control.

Q16. An object of mass 40 kg is raised to a height of 5m above the ground. What is its potential energy? If the
object is allowed to fall,find its kinetic energy when it is half —way down.

Q17. .Mohit’s teacher told him about the concept of distance and displacement. She told him that distance is
quantity that refers to “how much ground an object has covered” during its motion whereas displacement is a
quantity that refers to “how far out of palace an object is” which means it is objects’ overall change in position.
(1): Given a circle of radius ‘r’. Let Mohit start walking along the circle from point ‘C’ and reaches to point
diametrically opposite to it which is ‘M’. Choose correct statement.

Distance travelled by Mohit is 2r
Total displacement of Mohit from his initial position is O.
Distance travelled by Mohit is (T x r).
D. Total displacement of Mohit from his initial position is (x r).
(2).What is the distance travelled if Mohit completes one circle.
(3)The displacement made by Mohit when he reaches to a point diametrically opposite to its starting point is :
choose the correct one.
AT
B. r
C. 2r
D. (2mr)
Q18. In the gold foil experiment, what observations led Rutherford to conclude that
(a) Most of the space inside the atom is hollow.

o ® >

(b) The central portion of the atom is positively charged
(c )Volume occupied by the nucleus is very small as compare to the total volume of the atom
OR
(i) What are the postulates of Bohr’s model of an atom?
(ii)If chlorine atom is available in two isotopes of Chlorine 3°17Cl (75%) and 3717Cl (25%) , Calculate the
average mass of chlorine atom.
Q19.(i) Define Latent heat of fusion .
(i) Write the difference between compounds and Mixture giving 4 points.
Q20. Which phylum is having the largest number of members? Write their characteristic features. Give one
example.
Q21. Differentiate between the voluntary and involuntary muscles. Give one example of each.
OR
Differentiate between simple and complex permanent tissues in plants.



Q22.Weightlessness is the complete or near-complete absence of the sensation of weight. This is also termed zero-
g, although the more correct term is "zero g-force". It occurs in the absence of any contact forces upon objects
including the human body.

Weight is a measurement of the force on an object at rest in a relatively strong gravitational field (such as on the
surface of the Earth). These weight-sensations originate from contact with supporting floors, seats, beds, scales,
and the like. A sensation of weight is also produced, even when the gravitational field is zero, when contact forces
act upon and overcome a body's inertia by mechanical, non-gravitational forces- such as in a centrifuge, a rotating
space station, or within an accelerating vehicle.

1. Which of the following sentence is true?

Mass of any body is more on moon as compared to earth
Weight of any body on moon is always equal to weight of same body on earth
Weight of any body is more on earth as compared to on moon
Weight doesn’t depends on gravity it is always same at any planet.

2. A man weighs 75kg on the surface of the earth. His weight in a geostationary satellite is:
infinity
150kg
zero
75/2 kg
3 .The weight of a body of mass 60kg at the centre of the earth is
A.60N
B.600 N
C.ON
D. Infinity.
Q23. What is kinetic energy? The velocity of a body moving in a straight line is increased by applying a constant
force F, for some distance in the direction of the motion. Prove that the increase in the kinetic energy of the body
is equal to the work done by the force on the body.

OR

Establish the relationship between the speed of sound,its wavelength and frequency .If the velocity of sound in air
is 340m/sec, calculate: (a) wavelength when frequency is 256 Hz.

(@) frequency when wavelength is 0.85m .
Q24.


https://en.wikipedia.org/wiki/Weight
https://en.wikipedia.org/wiki/G-force
https://en.wikipedia.org/wiki/Contact_force
https://en.wikipedia.org/wiki/Inertia
https://en.wikipedia.org/wiki/Gravity
https://en.wikipedia.org/wiki/Centrifuge
https://en.wikipedia.org/wiki/Space_station
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The figure shows how water supplied to houses in cities is made fit for drinking
(i) The cleaning of water often happens in several steps, involving different techniques. The cleaning process
shown in figure involves four steps (1-4). In the second step, the water is collected in a settling pond. In what way
does this step make the water cleaner?
a) The bacteria in the water die
b) Oxygen is added to water
c) Gravel and sand sink to the bottom
d) Toxic substance are broken down
(ii). in the fourth step of the cleaning process, chlorine is added to water.
Why chlorine is is added to water?
(iii). Can drinking polluted water cause the following health problems? write “Yes” or “No” in each case.

Can drinking polluted water cause the following health Yes or No

problems?

Diabetes Yes/No

Diarrhoea Yes/No

HIV/AIDS Yes/No
SECTION C

Q.Answer the following questions

i) Why does the DNA of moneran is not enclosed within the nucleus?
ii) Why are they regarded as primitive organisms?

iii) Where are they found commonly?

iv) Write the unique characteristics of moneran



Q26. When will you say a body is in non-uniform acceleration A ball is gently dropped from a height of 20m.If its
velocity increases uniformly at the rate of 10m/sec, with what velocity will it strike the ground? After what time it
strike the ground?
Q27. An elephant weighing 40,000N stands on one foot of area 1000cm2 whereas a girl weighing 400N is standing
on one ‘stiletto’ heel of area 1cm2
(a) Which of the two, elephant or girl, exerts a larger force on the ground and by how much?
(b) What pressure is exerted on the ground by the elephant standing on one foot?
(c) ) What pressure is exerted on the ground by the girl standing on one heel ?
(d) Which of the two ,elephant or girl, exerts a larger pressure on the ground?
(e) What is the ratio of pressure exerted by the girl to the pressure exerted by the elephant when both are
standing on one foot?
Q.28. (i) Calculate the following:
(a) What is mass of 2 moles of aluminum atoms( Atomic mass of Aluminium=27)?
(b) Convert 20 g of water into mole
(c) What is mass of 0.2 mole of oxygen atoms?
(i) Write the chemical formula of the following .
Magnesium Sulphate
Calcium hydroxide
Aluminum chloride
Calcium nitrate
Q29.
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The figure shows how the liquid components can be separated using a fractional distillation.

(i) What type of liquids can be separated by fractional distillation?

(ii). Which part of fractional distillation apparatus make it efficient and possess an advantage over simple
distillation process and write its function also.

i) Fractional distillation is used to separate liquids for which the difference in boiling point is

More than 25 K

More than 40 K

Less than 25 K

Less than 40K

Q30. What are biogeochemical cycles ?Explain the process involved in the cycling of ntrogen in the environment .
Or

a.What is green house effect?

b. Draw a labeled diagram of carbon cycle.
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